





#### **ABSTRACT**

Announcement-Strengthening of Trauma and Emergency Care at Government Hospital – Tirupathur, Sivagangai District, Sattur, Virudhunagar District – Sanctioned – Orders – Issued.

### HEALTH AND FAMILY WELFARE (EAPI-1) DEPARTMENT

G.O. (Ms) No.347

Dated:03.10.2022 சுபகிருது, புரட்டாசி-16 திருவள்ளுவர் ஆண்டு-2053

#### Read:

From the Project Director, The Tamil Nadu Health System Reform Program, letter Ref.No.5547/TNHSRP/ PMU/TRAUMA/2022, dated:23.05.2022.

\*\*\*\*\*

#### ORDER:

The Hon'ble Minister for Health and Family Welfare has made the following Announcement in the floor of the Tamil Nadu Legislative Assembly during the Demand No.19.

Announcement No.25

"சிவகங்கை மாவட்டம் - திருப்பத்தூர், விருதுநகர் மாவட்டம் - சாத்தூர், கடலூர் மாவட்டம் - விருதாச்சலம், திருவண்ணாமலை மாவட்டம் - செங்கம், தருமபுரி மாவட்டம் - பாலக்கோடு ஆகிய அரசு மருத்துவமனைகளில் உலக வங்கி திட்டத்தின் கீழ் ரூபாப் 11.62 கோடி மதிப்பீட்டில் விபத்து மற்றும் அவசர சிகிச்சை பிரிவு ஏற்படுத்தப்படும்".

2. Based on the above announcement, the Project Director, Tamil Nadu Health System Reform Program in her letter read above has stated that the Tamil Nadu Health System Reform Program (TNHSRP) has been working towards improved provision of quality trauma care services. Meanwhile to strengthen the Trauma and Emergency Care, the Government of Tamil Nadu has launched the Tamil Nadu Accident and Emergency care Initiative (TAEI) Program in 2017and now 89 Government health facilities were designated as TAEI Centre. These TAEI centers are dealing with 6 pillars, namely Trauma, MI, Stroke, Poison, Burns, Pediatric Emergencies and other life-threatening conditions. As a front-line face lifting unit, these centre play a major role in quality management and bring down the mortality. Further, Gap analysis are being done regularly to identify new center in the state to upgrade as a TAEI Centre with the provision of Infrastructures (New TAEI Building, etc.) Accordingly she has proposed to strengthen the Trauma and Emergency Care at Government Hospitals in Tirupathur, Sivagangai District and

Sattur, Virudhunagar District as the TAEI Centre No.88<sup>th</sup> and 89<sup>th</sup> TAEI centro and 49<sup>th</sup> and 50<sup>th</sup> DMS Institution under TAEI Center. She has furnished the vital statistics and general performance of the above said Government Hospitals.

3. The Project Director, Tamil Nadu Health System Reform Program has furnished the requirements for strengthening the above said three Government Hospital as follows:-

Name of the Hospital	Equipment's for Emergency Room	Civil Works	Operational Cost	
	Non - recurring (INR)		Recurring (INR)	
Tirupathur, Sivagangai District	61,05,063	3,71,00,000	2,00,000	
Sattur, Virudhunagar District	61,05,063	3,71,00,000	2,00,000	
Total	1,22,10,126	7,42,00,000	4,00,000	
Grand Total		8,68,10,126		

The detailed particulars of Equipment is annexed to this order.

- 4. The Project Director, Tamil Nadu Health System Reforms Program has stated that the above proposal has been approved in the District Health Assembly / State Health Assembly / State Empowered Committee and hence requested the Government to issue the necessary orders in this regard.
- 5. The Government after careful consideration of the proposal of the Project Director, Tamil Nadu Health System Reform Program have decided to accept the same and accordingly issue the following orders:
  - i) Sanction is accorded for a sum of Rs.7,42,00,000/- (Rupees Seven Crore Forty Two Lakhs only) towards the Construction of New TAEI Building in Government Hospitals mentioned in para 3 above (Rs.3,71,00,000/- per Centre) through Public Works Department
- ii) Sanction is accorded for a sum of Rs.1,22,10,126/- (Rupees One Crore Twenty Two Lakh Ten Thousand One Hundred and Twenty Six Only) towards the procurement of Equipments for the Government Hospitals mentioned in para 3 above (Rs.61,05,063/- per Center) through Tamil Nadu Medical Services Corporation Limited
- iii) Sanction is accorded for a sum of Rs.4,00,000/- (Rupees Four Lakhs Only) towards the Operational Cost to the Government Hospitals mentioned in para 3 above (Rs.2,00,000 per Center)
- iv) The Director of Medical and Rural Health Services is authorized to draw and disburse the amount sanctioned at para 5(i),(ii) & (iii) above.
- v) A separate account to be maintained exclusively for Tamil Nadu Health System Reform Program funds in Directorates and facilities involved which should be operated by joint signatory.
- 6. The expenditure sanctioned in para 5 (i), (ii) and (iii) above shall be debited to the following head of account respectively:-

"4210 Capital Qutlay on Medical and Public Health – 01 Urban Health Services – 200 Other Health Schemes - Externally Aided Projects - PD, Tamil Nadu Health Systems Reforms Project – Administrated by the Director of Medical and Rural Health Services - 416 Major Works 01- Major works.

(DPC 4210 01 200 PD 41601)" - Rs.7,42,00,000/-

"2210-Medical and Public Health-01 Urban Health Services – Allopathy – 110 Hospitals and Dispensaries – Externally Aided Project PD, Tamil Nadu Health Systems Reforms Project – Administrated by the Director of Medical and Rural Health Services-319 Machinery and Equipments- 01. Purchase (DPC 2210 01 110 PD 31901)" - Rs.1,22,10,126/-

"2210-Medical and Public Health-01 Urban Health Services – Allopathy – 110 Hospitals and Dispensaries – Externally Aided Project PD, Tamil Nadu Health Systems Reforms Project – Administrated by the Director of Medical and Rural Health Services-305 Office Expenses - 02 Other Contingences (DPC 2210 01 110 PD 30502)" – Rs.4,00,000/-

- 7. The expenditure sanctioned in para-5 above shall constitute an item of "New Instrument of Service" and the approval of Legislature will be obtained in due course. Pending approval of the Legislature, the expenditure may be initially met by drawal of an advance from the Contingency Fund. The Director of Medical and Rural Health Services is directed to calculate the actual amount required for the period upto next Supplementary Estimates and apply for sanction of the same as advance from the Contingency Fund to Finance (BG.I) Department directly in Form A appended to the Tamil Nadu Contingency Fund Rules 1963 along with a copy of this order. Orders for sanction of an advance from the Contingency Fund will be issued from Finance (BG.I) Department. The Director of Medical and Rural Health Services is requested to send necessary explanatory notes to include the above expenditure in the Supplementary Estimates for the year 2022-2023 to Finance (BG-I/Health-II) Department at an appropriate time without fail.
- 8. This order issues with the concurrence of the Finance Department vide its U.O.No.44222/Finance (Health-II)/2022, Dated:28.09.2022 and ASL No.1357 (one thousand three hundred and fifty seven) (IFHRMS ASL No.2022091357).

## (BY ORDER OF THE GOVERNOR)

## P. SENTHILKUMAR PRINCIPAL SECRETARY TO GOVERNMENT

To

The Project Director, Tamil Nadu Health System Reform Program, Chennai-600 006.

The Director of Medical and Rural Health Services, Chennai- 600 006.

The Director of Medical Education, Chennai - 600 010.

The Director Public Health and Preventive Medicine, Chennai -600 006.

The Mission Director, State Health Society, Chennai -600 006.

The Managing Director, Tamil Nadu Medical Services Corporation Ltd, Egmore, Chennai-600 008.

The Accountant General (A&E), Chennai-600 018.

The Pay and Accounts Officer (South), Chennai-600 035.

The Commissioner of Treasuries and Accounts, Nandhanam, Chennai-600 035. Copy to:

The Special Personal Assistant to Hon'ble Chief Minister / Health & Family Welfare / Finance & HRM, Chennai-600 009.

The Finance (Health-II / BG-I&II/W&M-I) Department, Chennai-600 009. The Health and Family Welfare (Data Cell / Bills) Department, Chennai-600 009. Stock file / Spare copy.

//FORWARDED BY ORDER //

3.10.2022

SECTION OFFICER

98 A

# G.O. (Ms) No.347, Health and Family Welfare (EAPI-1) Department, Dated:03.10.2022.

ANNEXURE  Equipment for Government Hospital - LEVEL III Includes Emergency Room (ER) Equipment and HHDU						
1	Defibrillator	2	1,95,440	3,90,880		
2	Suction Apparatus	4	15,680	62,720		
3	Volume Infusion Pump	2	22,120	44,240		
4	Syringe Infusion Pump	2	21,000	42,000		
5	Mobile X Ray	1	3,39,360	3,39,360		
6	Crash Cart	3	18,467	55,401		
7	Pulsoxymeter	3	80,584	2,41,752		
8	Flash Autoclave Machine	1	1,54,580	1,54,580		
9	Dressing Trolley	3	5,416	16,248		
10	Stretchers/Multi-Functional Stretcher	3	8,602	25806		
11	Wheel Chair	3	11,564	34,692		
12	Spine Board	2	6,231	12,462		
13	Scoop Board	1	12,553	12553		
14	Auto Clave Machine	1	105020	105020		
15	Video Laryngoscope	1	1,76,960	1,76,960		
16	Emergency Recovery Trolley MS-Resuscitation bay cot	3	24,603	73,809		
17	Fowlers Cot (Red Zone)	2	23308	46616		
18	Semi Fowlers Cot (Green Zone)	2	9830	19,660		
19	Fowlers Cot (Yellow Zone)	4	23308	93232		
20	Multi-Para Monitor	4	2,07,200	8,28,800		
21	E Fast	1	11,44,080	11,44,080		
22	Ventilator	2	6,66,400	13,32,800		
23	ECG Machine	2	68,320	1,36,640		
24	Laryngoscope -Adult- 2 set	2	2,548	5096		
25	Laryngoscope - Paediatric (2 sets)	2	2716	5432		
26	Computer with central monitoring system	1	2,00,600	2,00,600		
27	Central pipelines for supply of Oxygen (2 outlets on each bed), Central Suction and Compressed Air- 8 panel	1	5,03,624	5,03,624		
	TOTAL			61,05,063		

The above set of Equipments(S.No.1-27) each shall be provided to Government Hospital Tirupathur, Sivagangai District and Sattur, Virudhunagar District separately.

P. SENTHILKUMAR
PRINCIPAL SECRETARY TO GOVERNMENT

/ True copy /

310.2022 SECTION OFFICER